
CSE596 Lecture Wed. Oct. 9 

I forgot to snapshot the statement of Rice’s Theorem and its proof before erasing the left board, but 

here is the same proof from last year’s notes.  The statement is that the only decidable index sets are 

those of the empty class (which gives the empty language) and of RE (which is Sigma^*). 

 

 

You can see the conclusions about the reductions in the right-hand board snap as the lecture continued: 



 

 

Ignore that part in red pen in the last snap: 

 

 


